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QUESTION 1

Which of these is the correct function of Traceview? 

A. Displays a graphical task execution log. 

B. Displays graphically a memory acquisition and release log 

C. Displays graphically the call stack. 

D. Displays graphically the Ul state hierarchy. 

Correct Answer: A 

 

QUESTION 2

Which is the required plugin to develop Android with Eclipse? 

A. ADT 

B. AJDT 

C. CDT 

D. RDT 

Correct Answer: A 

 

QUESTION 3

Which of these is the correct explanation of the Android Asset Packaging Tool (AAPT)? 

A. It automatically generates an ID for resource files in the asset folder. 

B. It creates Android bytecode from a class file. 

C. It is a tool required when using an external library. 

D. It can create new zip compatible archive files. 

Correct Answer: D 

 

QUESTION 4

Which is the incorrect explanation of an Activity? 

A. If another Activity is instantiated when the Activity is executed, onPause() will be executed. 

B. When the Activity is displayed in the foreground, onResume() will be executed. 
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C. When the Activity is displayed again, onRestart() will be executed instead of onStart(). 

D. When the Activity returns from an onPause(), it sometimes can execute from onCreate(). 

Correct Answer: C 

 

QUESTION 5

Which of these is the incorrect explanation regarding the private key when an application is published? 

A. RSA cannot be used as the encryption algorithm for key creation 

B. Can be created by using keytool 

C. The debug key created by the SDK tool cannot be used 

D. Can store several keys in 1 key store file 

Correct Answer: A 
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